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11, 053, 460
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4,128, 668
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264, 081

AT AE

A A E R 30emAT ;
AT AE

A A EEERE30emEL E60cmATH ;
AT AE

EAR A EEMEE60cmE, F90cmATE ;
AT AE

EAR A EEMEREIOcmLL_E120em Al ;
AT AE

A A EA IR E 30emAT ;
AT AE

EAR B A ELHAERE30emll_E60cmATH ;
AT AE

EAR A ELAWERE60cmEL F90cmATE ;
AT AE

EAR A EAHAERE0emLL_E120emATH ;

R EAEEE T

585, 920

AT AE

A A E R E 30emAT ;
AT AE

A A EEHERE30emEL E60cmATH ;
AT AE

A A EEERE60emEL E90emATH ;
AT AE

EAR A EEMEEIOcmLLl_E120em Al ;
AT AE

A A EA IR E 30emA ;
AT AE

EAR B A EL R E30emL_E60emAT ;
AT AE

R A TESERE 60ecmPL_EI0emAT |
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BARTAE
EAR B AELAHAERE0enLL_E120emATH ;

R EAEEE T

X

256, 826

AT AE

A A E R 30emAT ;
AT AE

EAR A EEMEE30cm, F60cmATE ;
AT AE

A A EEEE60emEL E90emATH ;
AT AE

EAR A EEMEREIcmLL_E120em Al ;
AT AE

A A EA IR E 30emAT ;
AT AE

EA B A ELHAEE30emll_E60cmATH ;
AT AE

EA B A ELHEE60emll_EI0emATH ;
AT AE

EAR A ELHAERE0emLL_E120emATH ;

R EAEEE T

362, 430

AT AE

A A E R E 30emAT ;
AT AE

A A EEHEE30emEL E60cmATH ;
AT AE

EAR A EEMEE60cmE, F90cmATE ;
AT AE

EAR A EEMEEIOcmLLl_E120em Al ;
AT AE

A A EA IR E 30emAT ;
AT AE

EA B A ELHAERE30enll_E60cmATH ;
AT AE

EA B A ELHEE60emll_EI0emATH ;
AT AE

A A EAHAERE90emPL_E120emASTR ;
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TEHEX Sy - THE - R B {7 % & A bl A iR
IR EAEEHET = 788,296 | FAEHEAE 1, 300 m2

HAE KA ;

FREEAE 1,300 m2
HAE HAK;

BIAREAE 14 N
H K B A EERTE R R 100emaART ;

BIAREAE 14 N
R B A EERTEAS 5 100emEl_F200emA ;

BIAREAE 14 N
R B A EERTEAS 200emEL_F300emA ;

BIAREAE 14 N
HRR A E M EF AR 100emAT ;

BIAREAE 14 N
R A E M EFAE100emEL E200emA i

BIAREAE 14 N
R A E M E AR 200emEL E300emA i

IR AEEHET = 906, 615 | FHEHAE 1, 300 m2

HAE KA ;

TR AE 1,300 m2
HAE HAK;

BIAREAE 14 N
H K B A EERTE R R 100emaART ;

BIAREAE 14 N
R A EERTEA 5 100emEl_F200emA ;

BIAREAE 14 N
R A EERTEAS 200emE_F300emA ;

BIARE A E 14 N
R A E M EF AR 100emAT ;

BIARE A E 14 N
R A E M EF AR 100emEL E200emA i
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R A E M AR 200emEL E300emA i
IR EAEEHET = 670,017 | FHEEAE 1, 300 m2

HAE KA ;

FREEAE 1,300 m2
HAE HAK;

BIAREAE 14 N
H K B A EERTE R R 100emaARy ;

BIAREAE 14 N
R B A EERTEAS 5 100emEl_F200emA ;

BIAREAE 14 N
R A EERTEAS 200emEL_F300emA ;

BIAREAE 14 N
HRR A E M EF AR 100emAT ;

BIAREAE 14 N
R A E M EFAE100emEL E200emA i

BIAREAE 14 N
R A E M E AR 200emEL E300emA i

IR AEEHET =X 16, 731 |BhkR 1 i

FRARHE60emEL_E100emATi 50ALL b B ]
ORI MRS E R gL X Y (B
KL

%153 1 EN
FRARHE T 100emEd_F200emAw; 50ALA b IRl
ORI MRS E R AL XA Y (B
KL

%153 1 EN
HP AR E200emPA_E300emAN 50ALL b R
ORI MRS E R gL X Y (B
KL

%153 1 EN

EARERE60cmPL F120cmATH 50ALL - BRI
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THE4 REATEB P 1 T.XH HAE MR T8
TEHEX Sy - THE - R #H il pall 2! R
ORI MRS E R AL XA Y (B
KL
TR - & A A 100 m2
FHAE AR 100m28) L 1000m2ATH kX 4%
Y RE R OGEE) ;
T - 2 SRAHAT 100 m2
FAE AR 100m2LL - 1000m2ART A X A=
Y GREROES) ;
IR EAEEHET 46, 841 20 VN
HAA E60cmPA_100emAT 50ALL b HERRE
RO IEIE MR EA SRR Y
KL
20 i
RS 100emPd _=200emaATw 504 LA b 7 R il
RO REERMIEA SR X Y
KL
20 i
FRARHE200emEd_F300emATw; 504 LA b IRl
RO REERMIEA SR X Y
KL
20 i
EAREEE 60cmEd_F120emAH; 50ALL b BERE I
RO REERMIEA SRR Y
KL
T - 2 FRHHAT 100 m2
FHAE R 100m28L L 1000m2ATH kX 4%
Y RE R OGEE) ;
T - 2 FRAHAT 100 m2
R PR 100m284_E1000m2 RV fH F KR A
Y GRERUORES) ;
IR EAEFHT 7,969 | FHHE - & A A 100 m2

FE A 100m2LL F1000m2AT A X [E
T B
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TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
IR EAEFHT X 1 5,890 | AHAH - & HAIBUA 100 m2
FHE AR 100m284 _E1000m2 oK X R B
Bk
HEH) = 1 5,880 | HH| 2,000 L
AFEY
IR ZAEEET 2 1 13,802 | KAt AR 10 N
PR HE 200emPl_E300emATH ;
FIARHEAE 10 N
mA )& 60cmll_E120emATw ;
T - 2 H A 100 m2
FE AR AR 100m2LL_E1000m2A A X
MR CRE R OHEE) |
IR EAEFHT X 1 7,238 | AAE - ZEAE 100 m2
FE AR AR 100m2LL_E1000m2A A X
il B
IR EAEFHT X 1 5,035 | AHAE -2 EAE 100 m2
FE AR AR 100m2LL_E1000m2A A X
il BREEARHIAS |
ek s =X 1 38,200 |[EAEEL 100 kg
Ty b =245
IR AEEHET = 1 7,072 |#HE 10 i
(B —HNE)
IEAR B 60emAT HEARLOARLL | KA =60
emATH 1004 AT ;
MR- EAEET = 1 8,488 | K 100 m2
MR- EAEET = 1 9,762 |HEK 100 m2
MR- EAEET = 1 7,215 | HEK 100 m2
IR EAEFHT X 1 38,120 |HURIREL 200 m2

FEIA M 100m2LL - 1000m2AT £k FH X FE e
BEROZEE) ;
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FEGAZ-HiE 100m2 L4 F1000m2A0 A XK [E ook

SR

200
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R EAEEE T

X

32,400

PARPREL

FEGAZ-HiE 100m2LL F1000m2A0 A1 X4 Brbs

Ry

200

m2

H

1,517, 360

k| o
5
»
1t
H

910, 000

PR
HEKPREL ()

TR PR L
HEKPREL ()

R R PEAD

2,000
2,000

2,000

m2
m2

m2

143, 000

AR
A

AR
Al

200

200

464, 360

I

PR

557, 622

557, 622

I

Ty ERLLAS CIBIRD) /A (BRHE)

b

+wp CEHR - ERIRY LET) ;
i

B AV CoOMLE
D avy) -}

(t=5cm)

18-8-25 (20) (@fF) a2V RE| M A

B Ey—h
AT Bt R 0. AnmfRE

150

100

m2

m2

IS RALER T

2,557,760
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FEAB P 1 T POEBSAEHAER T3

TEHX4y « Tfd - FER B Az £ & #A i il R
S AL T X 2,557,760 |97 H5t ! A
HE e 1 F2V
BEFEM AL = 677, 500
BEZE) LR T = 677,500 | LAy 50 t
AL TE
VU%ax ¢ 1 t
BENRAEY ;
A Y 1, 614, 550
A ERE E T = 1,174,200 | ACi@5E 205 5 1 =
A ERE E T = 440, 350 | AZIEREEE i B 1 =
JH K e = 4,939, 120
BT = 921, 150
%R L Y 921, 150 | EATRE: 5 N
WRAREE L #)E60cmPL F90emATH ;
FRIARER 5 N
PRI L #2J890embl_F120emAT ;
BIAR R T Y 1,134,120
EAREMRT Y 1,134, 120 | EAR SR 70 N
e ;
IR RAR 2 N
PR IR AE L)
SN AL T =Y 1,071, 200
S AR T X 1,071,200 | J5H5He ! A
A 1 F2V
BEFEM AL = 198, 100
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TEHX4y « Tfd - FER B Az £ & #A i il A R
BEZE) LR T = 198, 100 | 445 15 t
AL TE

rGan = 1, 614, 550

A ERE E T = 1,174,200 | ACiEH5E 205 5 1 =

A ERE E T = 440, 350 | AZIEREEE i B 1 =
[ERAE Xy = 15, 992, 580
HiE 2 = 2,976, 120
BISTIGE: = 91, 120

Hefif & = 32,320 |FRAIEFAAE 1 F2V

IR s IR 1 F2

HeffrE sy = 58, 800 | 18 & fiti i FeANT —HERKEY 1 F2V
B (FEHL) = 2, 885, 000
T = 18, 968, 700
Bl gy = 10, 863, 000
T =5l = 29, 831, 700
— R A = 5, 818, 300
T =AM = 35, 650, 000




